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BACHELOR'S DEGREE PROGRAMME 

(B. D. P.) 

Term-End Examination 

June, 2020 

EEC-013 : ELEMENTARY STATISTICAL METHODS 

AND SURVEY TECHNIQUES 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Attempt any two questions from Part 'A, 

four from Part 73' and two from Part 

Part—A 

Note : Attempt any two questions. 	20 each 

1. What do you mean by Seasonal Index ? Explain 

calculatibn of seasonal index on the basis of 

quarterly data of your choice. 

2. What is a x2  -variable ? What is its relationship 

with a normal variable ? When would you use a 

x2  -test ? Explain. 

P. T. O. 
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3. (a) Explain the concept of standard normal 

distribution. Why is it preferred over 

normal distribution ? 

(b) Under what circumstances, would you use 

a Student's 't' test ? Explain. 

4. (a) What is Secondary Data ? Enumerate 

important sources of secondary data in 

India. 

(b) Explain the concepts of Type I and Type II 

errors. 

Part—B 

Note : Attempt any four questions. 	12 each 

5. What is Fisher's ideal index number ? Does it 

satisfy time reversal test ? 

6. Explain the concept of the following : 

(a) Acceptance region 

(b) Rejection region 

7. Calculate the correlation coefficient between X 

and Y given that : 

n = 10, EX = 125, EY = 80, EX2  = 1585, 
EY2 = 650 and E XY = 1007. 

Interpret its value and sign. 
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8.. What is Skewness ? How are the mean, median 

and mode of a moderately skewed distribution 

related ? 

9. What happens when you use linear 

interpolation to estimate intermediate values 

from very distant values in a growing time 

series ? Which technique can give you better 

approximation ? Explain. 

10. A bag contains 10 red and 5 white balls. 3 balls 

are taken out at random. Find the probability 

that all the 3 are red. 

Part—C 

Note : Attempt any two questions. 	6 each 

11. What is an efficient estimator ? How is it 

different from a consistent estimator ? 

12. Distinguish between simple random sampling 

with replacement and simple random sampling 

without replacement. Use a numerical example 

of your choice to illustrate your answer. 

P. T. O. 
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13. Distinguish between a sample survey and a 

population enumeration. When would you 

resort to sample survey and why ? 

14. Use a numerical example of your choice to 

illustrate that as the sample size increases, 

sample mean approaches population mean. 
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